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Solving Systems of Equations Graphically
Ch. 3-1 Part A

Nk W " _
Discuss HW pg.158 # 1-38 DO Dy 12° 50

How to solve Linear Equations Graphically: Solutien 1o The get s oS
2 the. aiered pors +hos maxe Thod
- A system of linear equations is a set of two or more linear equations with same epUation frue.
variables. Slope-inter et - SORE .,{9'2/ 7~
- Graphing these equations is the easiest when put in peiatstope form.

What is a consistent system of equations? (Example in book)
When the graphs intersect at exactly one point, so there is one solution to the system.

What are dependent equations? (Example in book)
When the graphs coincide; and there is an infinite number of solutions.
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What is the slope and y intercept of each equation?

Are they consistent, dependent, or inconsistent?

What is an inconsistent system of equations? (Example in book)
When the graphs are parallel and there are no points in common.

Try It pg. 163

a. 4x-y=5 b. y=2x+5
-3x+3y=3 y=2x-3
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Pg. 163 Exercises #1

3x+y=11 2 y=-3x+11

6x-3y=9 > y=-3+2x
What is the slope and y intercept of each equation? Then graph.
Are they consistent, dependent, or inconsistent?

To solve on a calculator graphically: —) M‘T@ﬁ % RO WERK

Put both equations into slope intercept form and plug them into calculator.
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Solving Systems of Equations Symbohcally
Ch. 3-1 Part B

Discuss HW: Pg. 164 #2-13

Do examples of solving linear equations graphically using a graphing calculator
HW Problems or Pg. 166 # 43&44

How to Solve Systems of Equations Symbolically:

1. Substitution:
= Get a variable from one equation on a side by 1tself
» Substitute the equation for the specified vanable in the 2™ equation
= Solve for specified variable
= Plug in to either equation and solve for o Vanable

Ex. lox+ Y= -2 0~ Y= -lox - 2 =) subsitude | v o
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2. Linear Combination: Equations in the system are add to each other to eliminate
all but one of the variables.

= Put each equation in Ax+By=C format =7 HN€ WP i s

»  Multiply a specified equation by a number that will allow one of
the variables to cancel each other out

= Add each column

= Solve for the remaining variable

= Plug in to either equation and solve for 2" variable

®-

—S&3>< 24= 0 ) = -Axs)oy = 30 z

® X*?’“ F | W -—}o

B Y=

Ex. ‘
@ F(Sx -3y 2 ) : / REaA 22510 yo10 WO 3
2 _

-3

% - \7_ =) substi fute. IO asier (Aaﬁm

L N Ly XY= 12 gy

Ix-2n)=bk P 9 zn\-j = 20 -Y\d %

3%=24=0 S 252 Y4
t24 124 x= g (g"")

Soludien = QD;Q)




C‘ Note:

= Not all systems of equations will have a unique solution.
* The method you choose depends on the equations of the system.
=  One method will make the process of ehmlnatlng a variable easier.

Do Try It Pg. 172 B&C

@5><+2 iy
Peril e et © e 2z o203
4 v N * x + |4 =
: :1 RpAl
— -\— > —
(rag, £y 47 TN e 2,
_ 2 ' 2 |Z :
85‘7\7;);-:’55 =< - \d:“%_"} ) —‘:,
—c-r :Ql)(o) T__C y= _272 2 2
XZ 0 =) SUbstitute =L - . ' _ ( | ) :
DoPg 1734182 = QLE) m&cﬂ% i | Qms;g({[d
@X ?D‘j 3 %= 3ytd -@Bxhj :\') ~wd =24 = -2
2x 44y = 1Y %= 3(2)43 v lox +2‘j =5 s *3 =&
(“(531,;)*#%“;&; < <of3. - NO ) L’jm |
USHM/-@, -14 ( | 0 Solhu |
_ 3xi+2qg = 9) T inCengieRnd
\OH Jr(a= v"—{ kki/ 7—) @ —2x +L?H:}6 Zx,, 3 }0 —
105 'Zo\d 2 ¥x: - |
3 - . —¥x: 8
" pobe 174411 30?;?4‘; TF v
+ -
~STAYE.
LH+w 3. "B o - ;
, ,, 2y=p - 2§
| sl R2W 23 ¥s3 )

U= 204tw) t2w L= 442 - A
b= ¥+ 2wiZw L=l '

2> Hy
Group Work 174 #6-10 & 12

Discuss - ‘4:’( 3~ f)"/

HW: Pg. +77#31=39 odd




B — ‘- '\’\ )
_ L af 2(y-%*
¥=2(%5 )t | \7_2711-&4 +27
- _ Ty =% —2
Sx t 2(2%x+) )= 27 %'~§Q*l'ﬂ G -
107 A 0= "= 12§
Sxit e t2 = 277 - | -
~ ‘ Ix= 2
= 28 LE* 2
55 C=h ) 3
«= 25, aiges’
9= 2(2 Y+
\ \d.: n
!@ Zrt44=10 3 v
| | *t4Yy=/0 %4-_‘_55 H10 wys
ZQ‘KS—X “2y = 8’) Sx-2y= ¢ ~ g o <
-‘\ox—'jé b |
) AF)tHy=10 $x 22y oS )=y
Jox = 10 s L
B T A BN
- ) b v | |
b Xe :L/_E:Z/q_ %Slx’r—?’ix=l3
2\ =/ N\
L ) Y \? %X'—‘\B,%
b= 12
g
| . h JB%—% =)0
AR SRV R lo t4y=10
Nextl ﬁg:.‘f Y= |
YGRS d o B4 ’
f)}‘} %2 |
Z 3
=4
1 ) «
y=o |



4
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Date
Solve each system of equations by graphing if possible.
1. y=2x+1 2. y=%x+1
y=—x+4 y:%x—?)
5 5
- X X
0 0 5
3. 2x+3y:-—-3 4. y=4x
x+y=0 2x—-y=-1
5% 52
X > X
0 5 0 5
|
5. x+2y=2 . 6. y=3x-4
3x+y=-+4 y=-2x+1
5% 5%
X X
0 5 0 5
|

7. George needs to send a package to Maryland. Federal Package charges 2 base fee of $8 plus an
additional $2 per pound. United Shipping charges a base fee of $13 plus an additional $1 per
pound.

a. For what weight of package would the ‘charges for the two companies be equal?

b. George’s package weighs 7 pounds. Which service will be cheaper for him to use?
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